
3 (Sem-3) BOD L

2 0 15

BODO (ELECTIVE)

Pull Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer in Bodo

1. ^TSIRt "ftR : 1x10=10

(^) %ik "ek
H^kikr?

(^) fTPRSIFn tit ^[R^FRsni?

(n) ^ETcfkT ^ «I^HcI|OPt fTTOSIT^ ^ I

(^) cTT^T^t -pri^
^S'l ^1 ?

(:§?) 'ttRR Tcpi^sn^ -Prf^ TIT^
Tpkn^^aTRkikT?

(^) TipTI^'^^iTi^^'TOsiTlf^^i^l
(15) '-InPH-i ^JPFRsn^ TTTRf 3TT^ ^

(^) ^ "Ekm^ kk Tn^l^jnkki?
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(pdnwiuoo)9S/9TV

|g>lfelb1^Ifelb

^\hlNb|ablblbblcht^^
^\m%(k)

111^
Ikhlhy^^lm£^illfeklikhibsjir(a)

ii%4tJ|P^Ik(ik)

03=Sxk

:t%^Iklk-^Mt^fjVjchNt.|5MklSlk'£

•IIJ^^^kU^ki>|jh(S:)

blblbblk^Ik1^Ij^1bbi<hk^
wMU^kklUifj^jll^^Ik(k)

ik^h^
lyi||ilfelk%^Jket-lirius

^\j^^ku^MhlB%lk^„(k)

dh(h>^ftl>imPFi|̂P>(kL)

lll^t
ijkitebKkk^yiMtk^klk^IM>»w«£u>hcb(<k)

0X=9xS:fc%^Jklkk-c

il-^hb%|lttIkhkoH(ig)

iyw#(fe)

{z)



I 3 )

(^) w.' ^H4>i4^wN ^ h1hhw ^ ten

(^) xrfte^ a?n^ ten^ 1^1

(^) "3% ^! a^t
sTifn itenn ^trr % 4T§n^ ^

amt "RRt #cfn 1tesR

(?5) hi^nIhR ^3itoi4 tet ^iwrn" %
•^wi\ ^ smt TTRt -M ite^ra

. (^) Tli^ 4lW^Hlfl
4>>Hmi %ci

4. #TR ^rf^ "to "^ : 10x4=40

(^) ^ %fln #TFn^ "nt^

•S[i* ignFTR

(11) "sntt'
^<s|c|»i| (^<1

TRT

'qprte ^nnJRsn^ <iMMI4>lI\ft
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( 4 )

Transition Periodic 4>")<HHI

^RRil^STT^ ^TOOft I

'l?^^ ^RR^raqpn (flash-back)
3TR^ ^T?FR1^ i^RRTTI «MI^WIHlH«dl

RNmJli w ^h?Ir)h rtrt i^f^i

(tr) "W5fR ^nf^ iRR-3HPTR#
h^<mwh) hnhwnh) *37Pnft'
%Tkr M ^RRJRsn# J4>NI^
f^f^l

'31Pnft' -RT^ 3RR^ 3TI^

★ ★ ★
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